r
Maths Homework Options and Sumdog

Time: . . . .
ime A little everyday to help mental maths skills and stop you getting a rusty brain!!

Keep using your clock! IMPORTANT:

Set times—child reads Remember to

move the hour

More Maths Problems to solve.

Say times—child sets hand too.

DRAW to solve! I've left my top tips over the page as a wee reminder!
O’clock  half past quarter past

quarter to Did you know? Drawing pictures to solve problems means we are using add, take away, multiply

and divide in P1—we’re good!

1. Millar had 6 grapes. Grace had 4 grapes. Brody had 7 grapes. How many altogether?
Use an analogue clock (a

g ( 2. Owen had a bag of apples—it had 20 apples in it.
clock with hands) you’ve

got at home or find an He gave 3 apples to Harry.

app for that! He gave 4 apples to Miller. Teachers love biscuits??
Make a time chart for the He gave 5 apples to Tasnim.
day. He gave 2 apples to Olly.

Hang it next to the clock. How many apples does he have left?

Do the activity on your 3. 30 biscuits. 6 teachers. Share them out equally. How many biscuits does each teacher get?
chart when it matches the 4.  5dogs. Give each dog 3 bones. How many bones altogether?
time.

Post your drawings on the blog and we’ll see if our answers match.

Talk about time a lot.

Make up some more for us to try!

Gg Maths Mix Up! \ ( . .
Big Counting Week... Big Number Cards
Over on page 4: Count up and down to 30 Keep playing with your big number cards:
Try out one column of questions everyday Count in 2s...2,4,6,8 up to 20 Put them in order—hang on the washing line
this week. Watch out + and - look carefully! Count in 10s...10,20,30 up to 100 Find the missing numbers—check out my photo on page 4. Blog me
Let us know how you get on. Practise counting backwards too! the missing numbers. Now try your own at home.

K / K ) Jump on the numbers—Ilay them on the ground and jump around. )




Drawing pictures to solve word problems.
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